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_ Use the given ray as the initial side of the angle and construct the other ray of the angle paying
- attention to the rotation. Show the rotation arrow from the initial ray to the ending ray.

1. 50° rotation 2. -120° rotation 3. 80° rotation 4. -75° rotation

1. -507 rotation 2. 120" rotation 3. -60° rotation 4. 757 rotation
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1. Lines 4B and CD are perpendicular at point E. There is a point, T, on the interior of
ZBED such that:

m£TED =3(2x~7)+ 20

m £ TEB =9 - 4(20 - 3%}

Find the measures of the angles.

2. Given that Z4CB and £ZMCN are vertical angles such that £ZACB and £4CM form a
linear pair. Find the measures of the angles if:

m £LMCN = 3(8x — 3y)

mLACM = 5x — 4(5x — 7y) + 11

MmZACB =3 —2 {3y —9x)



